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S MM 245 (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
AFS = A H 2t 18,480,758 10,516,284 7,964,474
= 1,557,887
g 8,602,000
& 6,562,871
£ 1,758,000
NEEH 4 18,444,248 10,516,284 7,927,964
= 1,557,887
g 8,602,000
& 6,526,361
£ 1,758,000
ASIHAH 43t 18,308,248 10,516,284 7,791,964
= 1,557,887
g 8,602,000
& 6,390,361
£ 1,758,000
ASI AN DI A 18,958 36,000 N 17,042
201 et 9| 16,250 36,000 A 19,750
01 AR 22l ] 16,250 36,000 AN 19,750
OMIIEAHME0 H2 =& S(HAEZ)
16,250,000 16,250
203 €2 F=&d| 2,708 0 2,708
03 Al ZH =X 2= XIH| 2,708 0 2,708
OMIIEAN APZ=X (0 AEZ) 2,708,000 2,708
S AMIEFHANJALAEH S 900,000 900,000 0
307 212t0| & 900,000 900,000 0
05 QIZtR &2 900,000 900,000 0
OsY AMNIEAFANMANIALAH 24 900,000,000 900,000
A AN AR 4 L HF2UG 451,800 264,900 186,900
& 401,800
£ 50,000
307 2iz2to| & 451,800 234,900 216,900
= 401,800
£ 50,000
02 QIZIA AAIE E X 451,800 234,900 216,900
Ostng=sxs sdX 100,000,000 100,000
o 50,000
= 50,000
OH st X & 96,800,000 96,800
OAMBIZAM AKX WSHEHSY (W AR
255,000,000 255,000
AMSEBH HERIT 5 73,000 76,000 A 3,000
307 2Iz2t0| A 34,000 40,000 A 6,000
02 DIZHEAAIRE E X 34,000 40,000 A 6,000




AN ARSI A Z T
3 NSEM |4

S MM 245 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMIIEHZH UWERT =2 4 2 ESSHA
H(GATEF) (0 &EZ) 34,000,000 34,000
308 XX EHSOIA 39,000 36,000 3,000
01 HXNHHNBMNEES 39,000 36,000 3,000
OAMZEZH WERT =& 84 &L ES3A
A (AlZ) (0 aE ) 39,000,000 39,000
A HIHE A SEAML(SHEEXH) 323,801 72,000 251,801
307 21201 A 323,801 72,000 251,801
02 It S AIHE L 323,801 72,000 251,801
OMIIZZHE LS 176,801,000 176,801
OMEIHIHE NS 147,000,000 147,000
M EZH 12 22 550,000 50,000 500,000
702 JIS38ES 550,000 0 550,000
01 JI3d&E= 550,000 0 550,000
OMEIHAMII=S 550,000, 000 550,000
LT EHEAEY 3,778,500 5,494,800 A 1,716,300
s 3,435,000
< 343,500
308 MtXIEHMSOIH 3,778,500 5,085,300 A 1,306,800
s 3,435,000
< 343,500
01 HXNHHBHELS 3,778,500 5,085,300 A 1,306,800
OAMIAEIIE LdXtel 3,778,500, 000 3,778,500
s 3,435,000
< 343,500
M EEZ X2 297,000 365,300 A 68,300
s 270,000
= 27,000
308 XX EHSOIA 297,000 365,300 A 68,300
s 270,000
< 27,000
01 HIXNHHBNEES 297,000 365,300 A 68,300
OAMSIEIIY ASIEEZ X
297,000,000 297,000
as 270,000
< 27,000
AFHOHEH] K& 389,370 474,000 A 84,630
= 345,000
< 44,370
308 AXIEH SOl A 389,370 474,000 A 84,630
= 345,000
= 44,370
01 HIXNHHBNEES 389,370 474,000 A 84,630
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ASFH |4
AAXHZH 43t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMSBIEAHMII ArHIHEEl XI& A
389,370,000 389,370
= 345,000
< 44,370
AP IRl KR (Z2ESSHAIY) 333,000 354,000 A 21,000
= 233,000
< 100,000
307 gl2tol & 333,000 354,000 A 21,000
= 233,000
< 100,000
02 IZtA M AIHE L 333,000 354,000 A21,000
OXG(2A)E5AY 333,000,000 333,000
= 233,000
< 100,000
AN EZN SMER2 =4 8,598,500 0 8,598,500
as 4,270,000
< 2,620,500
£ 1,708,000
207 Ao 58,500 0 58,500
01 289 58,500 0 58,500
OMBIHANBLEIS Bol2yYyo 8
58,500,000 » 14l 58,500
401 A& HIZ 2018 8,540,000 0 8,540,000
s 4,270,000
= 2,562,000
£ 1,708,000
01 A& HI 7,720,000 0 7,720,000
OMSIHZHM SHAEI2 ZHAS (S AHH])
7,720,000,000& * 14 7,720,000
s 3,860,000
< 2,316,000
£ 1,544,000
02 2feldl 800,000 0 800,000
OMSIHZHM SE&EI2 ZHAE (Zald])
800,000,000& * 14! 800,000
s 400,000
< 240,000
£ 160,000
03 AlZ S THHI 20,000 0 20,000
OMSIHZH SEAEIR2 ZEAS (RUHH])
20,000,000& * 14 20,000
s 10,000
< 6,000
2 4,000
M EIMER =2 2 4 84,600 0 84,600
201 et 27,000 0 27,000
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S Al EEH 2435 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 27,000 0 27,000
OMBEXNIAIY 8IS AF MAAKS 299
(ol AFE 2H) 27,000,000 27,000
403 XX SHHS K201 & 57,600 0 57,600
01 AIXISHHM A2 X 57,600 0 57,600
OAIZI &Y AlE &Hl X AH 57,600,000 57,600
oSJ1g =4 516,435 533,000 N 16,565
= 390,000
= 126,435
201 2Et24Hy| 9,435 0 9,435
01 AP 22| d| 9,435 0 9,435
OlISJIY SHAIY g2 =X S(HaAHEZ) 9,435
308 AMXISHMSOIA 507,000 533,000 A 26,000
hag 390,000
o= 117,000
01 AIXSHMENEXZ 507,000 533,000 A 26,000
onsllg 4 507,000,000 507,000
g 390,000
& 117,000
0271 248 S X 474,000 462,000 12,000
g 237,000
& 237,000
307 2iz2to| A 474,000 462,000 12,000
Fag 237,000
& 237,000
05 QIZ2tR E 2 474,000 462,000 12,000
O0ISJIgA| I HAEE ALY 474 000,000 474,000
g 237,000
o= 237,000
A HANM HEHLXe =4 1,334,284 1,334,284 0
= 979,887
& 354,397
307 QI2t0| ™ 602,602 602,602 0
= 366, 101
= 236,501
02 AI2tAAMAIE E =X 602,602 602,602 0
OMIIEAHN EEHES) s4d(H3ELXal)
602,602,000 602,602
= 366, 101
= 236,501
308 XAXIGHHM SO0l & 731,682 731,682 0
= 613,786
= 117,896
01 HXHHIMNEXZ 731,682 731,682 0
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L= B
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ALl & 3 T o
ASFH |4
AAXHZH 43t

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OAMBIZHZAMIIY U H 2 (AL Xt2l)
731,682,000 731,682
= 613,786
o=t 117,896
AMIEHAN SEXNJALMEH 2GS (Z2IEEHXH) 100,000 100,000 0
307 2Iz2t0| & 100,000 100,000 0
02 QIZHEAAIRE E X 100,000 100,000 0
OsY AMIXHEH SSXNMdEH &9
100,000,000 100,000
A HAM T2 X 85,000 0 85,000
307 Q12t0| ™ 85,000 0 85,000
02 DIZHE AAIE E X 85,000 0 85,000
OMIIEZN 212 K TZ224A(0AE2
85,000,000 85,000
=2R24H 483 J& 136,000 0 136,000
2840 243t 136,000 0 136,000
307 QI2t0| & 91,000 0 91,000
02 QI2tAMAIE E =X 91,000 0 91,000
O=Y ZK AN O3tHl0l 249 (ol AtE2)
40,000,000 40,000
O Z28HH 2 2RI XA (ol AHE
2) 51,000,000 51,000
308 AXISHHSOIA 45,000 0 45,000
01 AIKISHENEXZ 45,000 0 45,000
O=Y 28N 483 NAAY (O AEZ)
45,000,000 45,000
HESHAL (M EHAFM D) 36,510 0 36,510
Jl2ZHl (Aa =AM ) 36,510 0 36,510
Jl2ddl (At ™A M) 36,510 0 36,510
201 Bt 16,830 0 16,830
01 AP 22| H| 16,830 0 16,830
OAMBHBMARZ=E (0l AHE 2 16,830,000 16,830
202 04 d| 16,830 0 16,830
01 2L I 16,830 0 16,830
OMIEHAHALZ=R (0 AEZ) 16,830,000 16,830
203 ¥ R =&H]| 2,850 0 2,850
04 FEASHEYIFFEH| 2,850 0 2,850
OAMSIEHZA M D (O AHE ) 2,850,000 2,850




